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1. If (1 + 𝑥)𝑛 = 𝐶0 + 𝐶1𝑥 + 𝐶2𝑥2+. . . +𝐶𝑛𝑥𝑛, then the value of 𝐶0 + 2𝐶1 + 3𝐶2+. . . +(𝑛 + 1)𝐶𝑛 will be 
 a) (𝑛 + 2)2𝑛−1 
 b) (𝑛 + 1)2𝑛 
 c) (𝑛 + 1)2𝑛−1 
 

d) 
(𝑛 + 2)2𝑛 
 

2. In the expansion of (𝑥3 −
1

𝑥2)
𝑛

, 𝑛 ∈ 𝑁, if the sum of the coefficients of 𝑥5 and 𝑥10 is 0, then 𝑛 = 

  
 a) 25 b) 20 c) 15 d) None of these 

 
3. In the expansion of (1 + 𝑥 + 𝑥2 + 𝑥3)6, then coefficient of 𝑥14 is 

 
 a) 130 b) 120 c) 128 d) 125 

 
4. The 14th term from the end in the expansion of (√𝑥 − √𝑦)

17
 is 

 
 

a)  17𝐶5𝑥6(−√𝑦)
5

 b)  17𝐶6(√𝑥)
11

 𝑦3 c)  17𝐶4𝑥13/2𝑦2 
d) None of these 

 
5. The sum of the coefficients in the expansion of (1 + 2𝑥 + 3𝑥2+. . . +𝑛𝑥𝑛)2 is 

 
 

a) ∑ 1 b) ∑ 𝑛 c) ∑ 𝑛2 d) 
∑ 𝑛3 

 
6. If 𝑎𝑘 is the coefficient of 𝑥𝑘 in the expansion of (1 + 𝑥 + 𝑥2)𝑛 for 𝑘 = 0, 1,2, …., 2𝑛 then  

 
 

a) −𝑎0 b) 3𝑛 c) 𝑛 ∙ 3𝑛+1 d) 
𝑛 ∙ 3𝑛 
 

7. The coefficient of 𝑥𝑛 in the polynomial (𝑥 +  𝑛𝐶0)(𝑥 +  3 𝑛𝐶1)(𝑥 +  5 𝑛𝐶2) … [𝑥 + (2𝑛 + 1) 𝑛𝐶𝑛] 
  
 a) 𝑛. 2𝑛 b) 𝑛. 2𝑛+1 c) (𝑛 + 1)2𝑛 d) 𝑛. 2𝑛 + 1 
8.  𝑛−2𝐶𝑟+2𝑛−2𝐶𝑟−1+𝑛−2𝐶𝑟−2equals 

 
 

a)  𝑛+1𝐶𝑟 b)  𝑛𝐶𝑟 c)   𝑛𝐶𝑟+1 d) 
 𝑛−1𝐶𝑟 
 

9. For |𝑥| < 1, the constant term in the expansion of 
1

(𝑥−1)2(𝑥−2)
 is 

 
 a) 2 b) 1 c) 0 

d) −
1

2
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10. 
Coefficient of 𝑥 in the expansion of (𝑥2 +

𝑎

𝑥
)

5

 is  

 
a) 9𝑎2 b) 10𝑎3 c) 10𝑎2 d) 

10𝑎 
 

11. 1

𝑛!
+

1

2! (𝑛 − 2) !
+

1

4! (𝑛 − 4) !
+ ⋯ is equal to 

 
 

a) 
2𝑛−1

𝑛 !
 b) 

2𝑛

(𝑛 + 1) !
 c) 

2𝑛

𝑛!
 d) 

2𝑛−2

(𝑛 − 1) !
 

 
12. The greatest coefficient in the expansion of (1 + 𝑥)10, is 

 
 

a) 
10 !

5 ! 6 !
 b) 

10 !

(5 !)2
 c) 

10 !

5 ! 7!
 

d) None of these 
 

13. 
In the expansion of (

𝑎

𝑥
+ 𝑏𝑥)

12
,the coefficient of 𝑥−10 will be 

 
 

a) 12𝑎11 b) 12𝑏11𝑎 c) 12𝑎11𝑏 d) 
12𝑎11𝑏11 
 

14. The coefficient of 𝑥10 in the expansion of (1 + 𝑥2 − 𝑥3)8, is 
 

 a) 476 b) 496 c) 506 d) 528 
 

15. 
If the (𝑟 + 1)th term in the expansion of {√

𝑎

√𝑏

3
+ √

𝑏

√𝑎
3 }

21

contains 𝑎 and 𝑏 to one and the same power, 

then the value of 𝑟, is 
 

 a) 9 b) 10 c) 8 d) 6 
 

16. The (𝑟 + 1)th term in the expansion of (1 − 𝑥)−4 will be 
 

a) 
𝑥𝑟

𝑟!
 b) 

(𝑟 + 1)(𝑟 + 2)(𝑟 + 3)

6
𝑥𝑟 

 
c) 

(𝑟 + 2)(𝑟 + 3)

2
𝑥𝑟 

d) None of these 

17. If 𝑦 =
1

3
+

1∙3

3∙6
+

1∙3∙5

3∙6∙9
+ ⋯, then the value of 𝑦2 + 2 𝑦 is 

 
 a) 2 

b) −2 
c) 0 d) None of these 

 
18. Let 𝑆(𝑘) = 1 + 3 + 5 +….+(2𝑘 − 1) = 3 + 𝑘2. Then, which of the following is true? 
 a) 𝑆(1) is correct 
 b) 𝑆(𝑘) ⟹ 𝑆(𝑘 + 1) 
 c) 𝑆(𝑘) ⇏ 𝑆(𝑘 + 1) 
 d) Principle of mathematical induction can be used to prove the formula 

 
19. The number of irrational terms in the expansion of (51 6⁄ + 21 8⁄ )100 is 

 
 a) 96 b) 97 c) 98 d) 99 

 
20. If the 𝑟th term in the expansion of (𝑥/3 − 2/𝑥2)10 contains 𝑥4, then 𝑟 is equal to 
 a) 2 b) 3 c) 4 d) 5 
 
 


